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reset;

reset
v:=readdata("/tnp/dati.fir",float);

v:=[33., 0.0209352, -0.023137, -0.0192754, 0.0261207, 0.0180106, -0.030303, -0.0170465,

0.0364732, 0.0163206, -0.0463253, -0.0157912, 0.064267, 0.0154304, -0.106465, -0.0152204,
0.31843, 0.515152, 0.31843, -0.0152204, -0.106465, 0.0154304, 0.064267, -0.0157912,
-0.0463253, 0.0163206, 0.0364732, -0.0170465, -0.030303, 0.0180106, 0.0261207, -0.0192754

-0.023137, 0.0209352]
pl ot (20*1 ogl0(abs(add(eval f (v[ k+1] *exp(-Pi *I1 *x*(k-1))), k=1..v[ 1]
))), x=0..1);
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